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Dimon 2 2[ 2 6
Hamar 2 1 1 1 3
Hrunamenn 1 1 2 1 4
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Brioill T % s N
Hrunamenn 2 1 2 3
Hamar 1 2 2 4
Laugdeelir 1 1 2
Rigill A Stig
Dimon - Hamar 2 25-7 25-10 2-1
Garpur - Dimon 17-25 7-25 1-2
Garpur - Hrunamenn 1 25-21 25-17 2-1
Hamar 2 - Garpur 22-25 13-25 1-2
Hamar 2 - Hrunamenn 1 12-25 7-25 1-2
Hrunamenn 1 - Dimon 12-25 7-25 1-2
Ridill B
Hrunamenn 2 - Laugdzelir 25-19 25-12 2-1
Hamar 1 - Hrunamenn 2 25-13 16-25 155 2-1
Hamar 1 - Laugdaelir 23-25 25-21 .15-12 2-1

2 unnar hrinur, upp i 25 og oddur upp i 15, ma
muna einu.

Unninn leikur - 2 stig, tapadur leikur - 1 stig






